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conclude the intro here 
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give ans in criminological perspective not in theme of pakistan affairs 
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which theory|?
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differential 
association
theory

neighborhood 
theory
Chicago school
of thought

social learning
theory

social strain theory

sub culture

social mobility 
etc 
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you have picked the idea but it is a Pakistan affairs ans not criminology
discuss through the lens of syllabus of the subject
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no need to discuss the sections write features of it 
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similar issue ans is incoherent 
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ans is too short 
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ans 3 and 4 are correct but too short 4 pages ans is not enough for 20 marks 
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